A & 0l & AHS & Al A

0098 E 2014+ LBHEI
A ZHEXARE
B NAIHBLSINEY
& SAIL(=SEH)XJ (&2 &)
SN - SRA(EA) - MRAY - S 01l & o8 e HlRE2
ZHISE AR 7,883,507 6,347,656 1,535,851
= 320,000
s 600,000
= 110,000
= 6,853,507
NSEZMELSI|IBtEA 4,778,001 5,221,205 A443,204
= 320,000
= 65,000
= 4,393,001
S (=ESH)XA 207,865 317,650 A 109,785
= 65,000
= 142,865
stE+E SJFUIKA 130,000 130,000 0
= 65,000
= 65,000
301 LetEazg 130,000 130,000 0
= 65,000
= 65,000
12 JIEIEA S 130,000 130,000 0
N sMAS+-EERHIXIA 130,000, 000& 130,000
= 65,000
= 65,000




2A: BHEXAIEE
M NGB MEde|gird

& SAIL(=SEM)XJ (&&=
SA - FB . GI(EN) - MRAY - B2 0fl &k o o HIRE2
SA0Y =4 64,737 67,650 22,913
201 LEr2EY| 7,750 8,650 2900
01 AtR2t2lsl 4,750 5,650 A900
=] 4,750
2)ELIISHERMNES H XM 2 5,000& 80 400
2N ESS ST E 40,000& * 150 A +23] 1,200
2)2g=¢ 3,150
NEAIIGLU-SAM 23| &AL 70,000 x5H *23| 700
NP ES RS ST EESEASY 70,0002 x15ZF *13] 1,050
NP ESMERAZ BN G 70,0002 x10H »23] 1,400
02 =32<H| 3,000 3,000 0
NAIEEHI S X 3,000
)N ETHHA E R X 24 250,000 122 3,000
202 04dl 3,487 5,500 22,013
01 S 3,487 5,500 ~2,013
NEAIILRFMEHAUEEA 75,8003 x2H «83| 1,213
NESESAMEHTAILSEERNCEA 75,800 x2H x53] 758
NXSENELs5 oL WS EA 75,800 x2H * 10 1,516
301 YErEAE 1,000 1,000 0
10 AIAHIE A= 1,000 1,000 0
DHAHAIZESS NREA Y E 4 50,000& 102 »23| 1,000
308 XXIEtMISO0IA 52,500 52,500 0
05 XXIEHZHREHES 52,500 52,500




D BHMEXAIS E
D AGBME L]

(S - KIRAY - Be S e HIDS2
DEEY) 52,500,000 52,500
OIS HHE2Y 13,128 120,000 106,872
301 2et2ds 13,128 0 13,128
10 HAAHIZ2a= 13,128 0 13,128
NEHEEE Ft 12,128,000 12,128
Nesdsdd o 50,0002 x10& »23] 1,000
dHHEN EE 18,727 21,085 A2,328
A=t ergate| 14,970 16,205 21,235
201 €Bt=2gH] 8,125 8,365 2240
01 A2ty 8,125 8,365 A240
DEEEES=] 4,345
2)SIAHE N = 3,845
)Z=ME=E 350& 3, 00004 1,050
3)SEHEH 3502 *1,9000»32! 1,995
3)8 +=atHl 40,000+ 10&*23 800
2)S It 5,000&*50==%23] 500
Ne2gd+g 1,820
2)SItH & 70,0002 x13&*22 1,820
1)=& 1,960
ZAPNE= == 7,000 #4700 1,960
202 O4H] 1,805 2,800 A995
01 2L 1,805 2,800 A995
NXgs2 75,800 x1E*1452+1.73] 1,805




SA: AREXA
MM XAHE A EE

0x

el AN & (St ®e)
S B S9(S0) - MRAEY - BaS Of o o HIDS
301 Let2d=s 5,040 5,040 0
10 HAIEBIZ2AE 5,040 5,040

NALEINLSIZLHQRA g+ 30,0003 *1452H+123 5,040

HED el 3,757 4,850 A1,093

201 €Bt=2gH] 2,050 2,050 0

01 AtF2tclHl 2,050 2,050 0
1)et=&H| 2,050
PFHEH A2 20 A 350& +3,0000H 1,050
2)HZI BAE AEIH HIE 500& *2,0000H 1,000

202 o4l 1,707 2,800 21,093

01 =UWoH 1,707 2,800 21,093
DA ZIIZAL & =AIZ A 75,8002 x 18 +95 B *13] 683
NFEKAAZ0IEI] FIIEAL & =AIZA 75,800« 1E 95 H*1.58] 1,024

AHHO MUK S82 2= 4,551,409 4,882,500 A331,091
= 320,000
s 4,231,409

CAUSEZEA 29H R U XA 4,011,911 4,208,000 196,089

202 O4H] 1,911 3,000 A1,089

01 WAL 1,911 3,000 A1,089
DNEMRIILEAE EXES 75,8003 x2F +9%] *1.43] 1,911

307 glz2told 2,010,000 2,205,000 195,000

02 QltAYEX 2,010,000 2,205,000 195,000
NeltFSEx 2,010,000




2A: BHEXAIEE
M NGB MEde|gixd

Sl OHEEQl XL 22 7S (2o e
S B S9(S0) - MRAEY - BaS Of o o HIDS
ARDAINLEHAILRFURIR (3 A) 10,000,000 10,000
2) S ML &AL 2,000,000,000& 2,000,000
402 212t Xt=01A 2,000,000 2,000,000 0
01 2iZtit=Ex 2,000,000 2,000,000
NEMTIHLE AL 2,000,000,000& 2,000,000
OIUX & JbA otE 2k 5,498 6,500 A1,002
201 €Bt=2gH] 4,740 5,500 ATE0
01 A2ty 4,740 5,500 AT60
1) et=2H| 3,900
)81, JtA HEAIS EEE N 5002 *1,000% 500
UXIZY S22 NI 3,400
3) 8= HIA 40,0002 x50& 2,000
J)SE=SHAH 500 *2,8000H 1,400
DEEL] 840
2)IFA 0K HRFE 04 7,000 x2E 60 840
202 Ol 758 1,000 N242
01 =W 758 1,000 A2A2
DA IAFSA SEXES 75,8002 x2E x53] 758
ATHANMUHAl AEES A 534,000 668,000 134,000
= 320,000
o 214,000
401 AlZHIYL R0 534,000 668,000 134,000
= 320,000




SA: SHSE A
M NGB MEde|gixd

helr QHE AN XFUUX 222 2= (&t &3
SA - FB . GI(EN) - MRAY - B2 0fl &k o o HIRE2
401 Al&HIZLS0HYI = 214,000
01 Al&HI 530, 150 643,190 A113,040
A & EHUZ LT AL 530, 150, 000& 530,150
= 317,690
i 212,460
03 AR 3,850 4,810 A960
A =& EHSZUEAIS 3,850,000& 3,850
= 2,310
i 1,540
HSMAEI R J|EHEtS 1,860,534 809,501 1,051,033
s 600,000
L= 45,000
i 1,215,534
2 AMAZ0F SRR 1,860,534 809,501 1,051,033
s 600,000
= 45,000
= 1,215,534
CHOIOt=EME off 2t Xt SH AMY 1,009,843 13,500 996,343
s 600,000
& 40,000
= 369,843
201 Ler2d 8,630 11,500 A2,870
01 AtR22iH| 8,630 11,500 22,870
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2FMAZ0F FEXNRI

S B S9(S0) - MRAEY - BaS Of o o HIDS
DRI =] 8,000
)ENE2RHESE XL CHE(105) 4,000
2)CIOIOI2EME SXEEE M= 4,000
DEEE] 630
2)UOIOt2EM N L E RF=EI0H A 7,000%3E 30 630
202 o8l 1,213 2,000 NT87
01 UL 1,213 2,000 AT87
DCOIO2EMESHL HLET 75,8002 x2& »8L 1,213
401 AlIZ2HIZ 200 1,000,000 0 1,000,000
s 600,000
= 40,000
= 360,000
01 Al&HI 993,700 0 993,700
CHOIOI2EME o2t 2 AR SHALY 993,700,000 993,700
= 596,220
= 39,748
o 357,732
03 AIE=2C0HEI 6,300 0 6,300
1)CIOIOL2EM T o2t 2 XHRISHALY 1,000,000, 000& *0.63% 6,300
= 3,780
== 252
o 2,268
2s 70,99 94,840 A23,844
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2 A

ZHISEXARS &

MU PRMASTIRE JIEE
9l AUYE0L EXNRI o 1)
SN EB - BRAEA) - MRAE - BES e 2t

01 AtR2tclH] 630 1,050 A4
DEEE] 630
)BENCI2IE R DA 7,000 *3F 30 630

02 s==2gHl 22,928 15,868 7,060
NES2SLHA 16,128
QWIS (BSOL 250,000 «12& 3,000
2)T | oHM 22| TH e 226,0002 122 2,712
Q)TN (HLUHS 17,0003 *12& 1,404
2)BS0Ctel & 150,000& 122 1,800
)8 & AIZ 7,212
3)=HIDIEAIZE D] 250,000« 122 3,000
3)=HIDITAIZED 226,000& 128 2,72
J=HDITA 2 A +ER 125,000& *12& 1,500
DAIZZHIR X 6,800
QBSAHLN(ZESEE) KA 22/ 2,000,000 2,000
)BT HE M ™Al 2 S X2l 400,000% 128 4,800

202 OfH] 2,274 3,400 A1,126

01 WAL 2,274 3,400 A1,126
NESEHLHE AR otielg == 75,8003 x2E x10 1,516
NEANSGRFA 75,8002 x2& x5 758

401 AlIZ2HIZ 200 708,000 195,000 513,000

01 Al&HI 708,000 193,596 514,404
N=HDIAAIZ a2 8,000,000 8,000

DEXI

700,000
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Q)stYStnAHAYUME HELSX 0 F7 EXN0HAHI 700,000,000 700,000

406 AH&HFSHI 17,000 0 17,000

01 NMHESHSH 17,000 0 17,000
DNE=HDIAAZ AL & 222X 17,000,000 17,000

S G228 12,043 12,043 0

101 el 12,043 12,043 0

10 JIAN22NHSES 12,043 12,043 0
DNIMEMAMLHETNS N+ LR 12,043
20123 32,0009 x 18200 6,400
2)Jt =3 3,200 1200 640
APIEE Es 6,400,000&%1/3 2,134
A2R2RE 4,912 *x1H*15A1 2t 12 885
2)FRSFII=Y 32,0003 x1H 522 1,664
QN REFINSE 32,0002 x 1810 320

o 2N EE S XA 10,000 10,000 0
= 5,000
= 5,000

201 €BH=gHl 10,000 10,000 0
= 5,000
o 5,000

03 Ar=gHl 10,000 10,000 0
NEAZNAESE SLHHEXI 10,000, 0002 10,000
= 5,000
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2 A

SRALS &
=0¢f

EER SEX=A JlgteE
e ATHEH UK S)FAS R (S d &
SA B S(3) - RN - B e HIDS2

2DIILEXNRI LRF=X0A 7,000 x2F x50 700

202 o8l 4,550 7,500 A2,950

01 UL 4,550 7,500 A2,950
DIUIIE SRR &5 2 X 75,8002 x2E »2& *62 1,820
NIIGENS MY &HE| = 75,8003 x2E x22 %33 910
NSz SSREH 2 75,8002 x2& »2& *62 1,820

401 AlIZ2HIX 200 150,000 200,000 A50,000

01 Al&HI 148,920 198,560 49,640
NIILEXNS XA BEAIEH] 148,920,000 148,920

03 AlEZ=CHHI 1,080 1,440 360
1)IIEE XS AKX I AL RO 150,000,000 *0.72% 1,080

402 2U2tHE01H 485,000 0 485,000

01 gli=Ex 485,000 0 485,000
NHI2+8X7 HaA=s 200,000,000& *1S 200,000
DHS=8X7 Fni=s 45,000,000 *1S 45,000
NJIg&Ey 2£23 80,000,000 80,000
DN=CA0MINY B3 80,000,000& 80,000
NARAEX DEEXRS 80,000,000 80,000

= | =4 & 29 153,653 23,900 129,753

X X A MEX LR 153,653 23,900 129,753

SAASX X oA M ZHA 153,653 23,900 129,753

201 Let=gl 11,680 9,500 2,180

01 A2l 11,680 9,500 2,180
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2A: BHEXAIEE
M HHERAHH(SMEXALISE)
=@ =2 (el &)
SA I BB - NRAY - B2 0l & o DS
elE 23| 3,000 4,200 1,200
203 HE=&H| 3,000 4,200 1,200
04 RA2EHRFAH| 3,000 4,200 21,200
NEM2ERFE] 250,000& 128 3,000
JI=&Hl 21,324 28,080 A6,756
Jl= &l 21,324 28,080 AN6,756
201 Ler2d 16,776 18,080 A1,304
01 At=2teldl 15,216 15,920 AT04
1) Bt=EH| 15,216
2)RNMBIAMRESH 12,968
2HHENRESTLARHEEE T I 7,000,000 7,000
3)SAD EZBIHIEWTY 70,0002 *3CH =102 2,100
J)ZElEHIIZeH (Y)Y 250,000& +623] 1,500
3)EAMEX T 1,200,000 1,200
R, BRR=R 1,168,000 1,168
2)= &l 2,248,000 2,248
02 =&2gHl 1,560 2,160 A600
N332s 2 HMAl 1,560
2)RERS 100,000 122 1,200
2)ot=0lge2 30,000& 128 360
202 Ol 4,548 10,000 Ab,452
01 3LHAb 4,548 10,000 A5,452
NEAN2E=30Y 75,800+ 122 x5 4,548




SH: AMEXAI
Y HRES(FMEXAIC)

¢ BEMXE (el &)
S - B - B9 () - MIRAY - BES of &t o HIDE

HeES(BHETAILE) 410,000 26,770 383,230

EFSPNES 410,000 26,770 383,230

28NS 410,000 26,770 383,230

311 XS0l Aretet 22,000 2,000 20,000

06 JIELXISSOIR&t &t 22,000 2,000 20,000

DNEMUHALEAAILALY 22,000,000& 22,000
601 XL=d=det 388,000 24,770 363,230
06 JIEt=UAESEsetet 388,000 24,770 363,230

DNEMHALAEAI LA 388,000,000 388,000




